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Choose the correct answer from the following: 1X20=20
1. Operations Research approach is :
a. multi-disciplinary b. scientific
c. intuitive d. collect essential data

2. A feasible solution to a linear programming
a. must satisfy all the constraints of the problem simultaneously
b. need not satisfy all of the constraints, only some of them
¢. must be a corner point of the feasible region
d. must optimize the value of the objective function

3. Ifany value XB Column of final table is negative, then the solution is

a. feasible b. infeasible
c. bounded d. No solution

“4. The difference between total float and head event slack is
a. free float b. independent float
¢. interference float d. linear float

5. A mixed strategy game can be solved by ity

a. Simplex method b. Hungarian method
¢. Graphical method d. Degeneracy

6. For any primal problem and its dual
a. optimal value of objective function is same
b. dual will have an optimal solution iff primal does too
c. primal will have an optimal solution iff dual does too
d. both primal and dual cannot be infeasible

7. Anoptimal assignment requires that the maximum number of lines which can be
drawn through squares with zero opportunity cost should be equal to the number of

a. Rows or columns b. Rows and columns.
¢. Rows+columns- 1 d. Rows-columns.

8. To proceed with the Modified Distribution method algorithm for solving a
transportation problem, the number of dummy allocations need to be added

are
a. n b. n-1
c¢. 2n-1 d. n-2
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